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1 Introduction
The minimum E-TFCI set has been discussed extensively during the last meeting in [1, 2, 3, 4]. This contribution aims to summarize the main reasons why to have a minimum E-TFCI set. 
2 Discussion 
We consider that the main advantages to have a minimum E-TFCI set for both carriers are:

· The Event 6d is triggered when the UE transmitted power reaches the maximum transmission power. In case there are two carriers in the uplink, Event 6d may not be always triggered if there is no minimum E-TFCI set in the secondary carrier. This will happen in situations in which the power imbalance between the carriers is high. A large proportion of the total power (P1 < PTotal) is allocated to the primary carrier and the remaining power (P2 << P1< PTotal) is allocated to the secondary carrier. It may well happen that the allocated power for the secondary carrier is such that the UE cannot select the smallest E-TFCI; hence, the secondary carrier would not transmit any data. The transmitted power would be made only of the transmitted power on the primary carrier: 
PTX = P1 , P1 < PTotal . As a result, the Event 6d would not be triggered. 
If there is a minimum E-TFCI set in the secondary carrier, the UE would transmit an E-TFCI according to the minimum E-TFCI set. This would imply that the UE would need higher power (P2’) than P2. As a result, the total (in theory) transmitted power would be: PTX = P1 + P2’ > PTotal ; P2’ > P2  ; P1 + P2 = PTotal . As a result, the Event 6d would be triggered. 

· When the secondary carrier is re-activated, the UE is able to transmit data if the current serving grant in the secondary carrier is set to zero. 

· If no minimum set is specified for secondary carrier, a HARQ retransmission in primary carrier would disable minimum set completely. A minimum set on secondary carrier would allow the UE to always transmit the minimum set.

It could be argued that the minimum E-TFCI set should be equal for both carriers. That is clearly the simplest approach. On the other hand, it is the less flexible approach. Having different minimum E-TFCI sets will allow the network to achieve different behaviours in the two carriers. We see no reason why we should avoid configuring one minimum E-TFCI set per carrier.

The advantages of having a minimum E-TFCI set per carrier overcome to the disadvantages of not having it [2], and therefore:

Proposal 1: The network should be able to configure a minimum E-TFCI set for the secondary carrier. This minimum E-TFCI set is independent from the minimum E-TFCI set in the primary carrier. 
3 Proposal

We kindly ask the group to discuss the following proposals: 
Proposal 1: The network should be able to configure a minimum E-TFCI set for the secondary carrier. This minimum E-TFCI set is independent from the minimum E-TFCI set in the primary carrier
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